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The Ecological Concept of disease suggests that -

1. Absence of disease to be healthy

2. Absence of pain and discomfort with continuous adaptation to surrounding changes
3. A person's health is affected by social. psychosocial, cultural and economic factors
4. Social. economic. political and environmental factors can influence health

Options :

68019146901. 1
68019146902. 2
68019146903. 3

68019146904. 4
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Options :

68019146901. 1
68019146902. 2
68019146903. 3
68019146904. 4

Question Number : 2 Question Id : 68019111895 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Lifestyle diseases are related to the way people live reflecting a whole range of social values,
attitudes and activities, It is composed of cultural and behavioral patterns. and the lifestyles are
learnt through social interaction with parents, peer groups. friends and siblings and through
social and mass media. Considering the above information in the light of determinants of health,
which of the following conditions 1s not related to behavioral and socio-cultural conditions.

1. Obesity, lung cancer

2. Smoking. alcoholism and drug addiction

3. Coronary heart diseases

4, Poverty. malnutrition. ill-health. high infant and child mortality

Options:

68019146905. 1
68019146906. 2
68019146907. 3
68019146908. 4
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Options :

68019146905. 1
68019146906. 2
68019146907. 3

68019146908. 4
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In order to identify the underlying causes or risk factors of disease and to aid the researchers. we
need some epidemiological principles and methods which are called as:

1. Measuring the disease frequency methods and principles
2. Pharmacoepidemiology

3. Analytical epidemiology

4. Mortality rate

Options :

68019146909. 1
68019146910. 2
68019146911. 3

68019146912. 4
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680191469009. 1
68019146910. 2
68019146911. 3

68019146912. 4

Question Number : 4 Question Id : 68019111897 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The causative factors of disease are classified as agent. host and environment. These three
factors are called the Epidemiological Triad. In order to cause a disease which of the following
process or conditions 1s very much essential :

1. Prevention
2. Interaction
3. Protection
4. Advancement

Options :

68019146913. 1
68019146914. 2
68019146915. 3
68019146916. 4

Question Number : 4 Question Id : 68019111897 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



R & PRI B! BRP, YN AR GaIaR0T & & H qillgd (a1 5 | 54 Ui HRUN Bl
TR fiaied eas o6 oI 8| U SR} Uel 3= & fou FHafafed 5 @ oF @
wisra a1 fRufd §gd snaxus ¢

Options :

68019146913. 1
68019146914. 2
68019146915. 3
68019146916. 4
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Primary health care services are based on certain essential principles which were discussed
i the Alma-Ata Declaration. These principles are:

(A) Intersectoral coordination

(B) Appropriate technology

(C) Community participation

(D) Equitable distribution

Please arrange the above principles in the best and correct sequence so that the primary health
care services can be accessible to the whole community.

1. (D). (C). (A). (B).

2.(D). (C). (B). (A)

3.(A).(B). (D). (O)

4.(A).(B). (C). (D)
Options :

68019146917. 1
68019146918. 2
68019146919. 3
68019146920. 4
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Options :

68019146917. 1
68019146918. 2
68019146919. 3

68019146920. 4

Question Number : 6 Question Id : 68019111899 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to the Bio-Medical Waste (Management and Handling) Rules. 1998 of India: the
generation of waste containing cytostatic drugs (often used m cancer therapy) will be classified
under which of the following health care waste: -

1. Infectious waste

2. Wastes with high content of heavy metals
3. Genotoxic waste

4. Pathological or chemical waste

Options :
68019146921. 1
68019146922. 2

68019146923. 3



68019146924. 4
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Options :

68019146921. 1
68019146922. 2
68019146923. 3
68019146924. 4
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Match List I with List IT

_ oo TARRR LIST II
[Average composition of hospital waste in ImhanP WO A
(Misteriak) ercentage (wet-weight basis
A |Paper I |4
B. |Plastics I |15t2
C. |Infectious waste III. |10
D. |Glass IV. |15

Choose the correct answer from the options given below:

1. (A) - (I). (B) - (II). (C) - (III). (D) - (IV)
2. (A) - (I). (B) - (1), (C) - (II). (D) - (IV)
3.(A) - (V). (B) - (IT). (C) - (II). (D) - (I)
4. (A) - (IIT). (B) - (IV). (C) - (D). (D) - (II)

Options :

68019146925. 1
68019146926. 2
68019146927. 3
68019146928. 4

Question Number : 7 Question Id : 68019111900 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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L. (A) - D). (B) - (II). (C) - (III). (D) - (IV)
2.(A)-(1). (B) - (IT). (C) - (II). (D) - (IV)
3.(A) - (IV). (B) - (ITT). (C) - (IT). (D) - (I)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

Options :



68019146925. 1
68019146926. 2
68019146927. 3

68019146928. 4

Question Number : 8 Question Id : 68019111901 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Among the health hazards of health-care waste. all of the following categories of individuals are
highly exposed to these hazards EXCEPT:

1. Medical doctors, nurses, health-care auxiliaries, hospital maimtenance personnel

2. Patients and visttors in hospitals

3. Laundry workers i health establishments. waste handling and transportation workers
4. Workers in waste disposal in hotels and cafetarias and other tourist establishments

Options :

68019146929. 1
68019146930. 2
68019146931. 3
68019146932. 4

Question Number : 8 Question Id : 68019111901 Question Type : MCQ Option Shuffling : No Is
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Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019146929. 1

68019146930. 2



68019146931. 3
68019146932. 4

Question Number : 9 Question Id : 68019111902 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The process of mixing waste with cement and other substances before disposal to minimize the
risk of toxic substances contained in the wastes and to prevent its migration into the surface
water or ground water 1 :

1. Incineration

2. Chemical disinfection

3. Wet Thermal treatment or Screw-feed technology
4. Inertization

Options :

68019146933. 1
68019146934. 2
68019146935. 3

68019146936. 4
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Options :
68019146933. 1
68019146934. 2

68019146935. 3



68019146936. 4

Question Number : 10 Question Id : 68019111903 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Water intended for human consumption should be both safe and wholesome. Which of the
following criteria can make it unfit for drinking: -

1. Free from pathogenic agents

2. Free from harmful chemical substances

3. Usable for domestic purposes

4. Water carries some odour although it looks clear and it 1s supplied through some vendors

Options :

68019146937. 1
68019146938. 2
68019146939. 3
68019146940. 4
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Options :

68019146937. 1
68019146938. 2
68019146939. 3

68019146940. 4



Question Number : 11 Question Id : 68019111904 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When we want to use the cheapest and most practical means of providing water to smaller
communities, we use the :-

1. Ground water

2. Sea water after desalting and demineralization
. Surface water

4. Rain water

L]

Options:

68019146941. 1
68019146942. 2
68019146943. 3

68019146944. 4
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Correct Marks : 4 Wrong Marks : 1
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Options :

68019146941. 1
68019146942. 2
68019146943. 3

68019146944. 4

Question Number : 12 Question Id : 68019111905 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Please arrange the activities in the medical record journey after admission in the correct
sequence:

(A). Copy of Admission Record

(B). Admission Check Desk

(C). Incomplete Records Control Desk

(D). Admitting office

Choose the correct answer from the options given below:

Options :

68019146945. 1
68019146946. 2
68019146947. 3

68019146948. 4

Question Number : 12 Question Id : 68019111905 Question Type : MCQ Option Shuffling : No
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Options :
68019146945. 1

68019146946. 2



68019146947. 3
68019146948. 4

Question Number : 13 Question Id : 68019111906 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The control of air pollution is ultimately an engineering problem. Which of the following
procedures have been recommended by the World Health Organization, for the prevention and
control of air pollution?

1. Isolation, quarantine and travel restrictions

2. Contamnment. replacement, dilution, legislation, mternational action

3. Chlorimation. disinfection and regulatory compliance by different sectors

4. Proper ventilation and prevention of overcrowding in cities and proper manpower planning

Options :

68019146949. 1
68019146950. 2
68019146951. 3

68019146952. 4
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
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Options :

68019146949. 1
68019146950. 2
68019146951. 3



68019146952. 4

Question Number : 14 Question Id : 68019111907 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One of the control measures that i1s widely used in conjunction with other methods 1s using a
wide range of small fishes in burrow pits, sewage oxidation ponds. ornamental ponds. cisterns
and farm ponds can help in control of which of the following Arthropod-borne diseases ?

1. Fleas, rat fleas. sand fleas and reduviid bugs

2. Crab lice, head and body lice

3. Mosquitoes

4. House flies, sandflies and black flies and all flies living near water bodies

Options :

68019146953. 1
68019146954. 2
68019146955. 3

68019146956. 4
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Options :
68019146953. 1
68019146954. 2



68019146955. 3
68019146956. 4

Question Number : 15 Question Id : 68019111908 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following statements doesn't explain how an individual behaves m certain
situation?

1. Making adjustments means a behaviour to meet the needs of a given situation

2. Internal changes brought about by emotions is also part of a person's behaviour

3. Isolating himself or herself and avoiding others

4, It may include losing temper and complaining to everyone when a person fails in anything

Options :

68019146957. 1
68019146958. 2
68019146959. 3
68019146960. 4
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Options :

68019146957. 1
68019146958. 2
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Question Number : 16 Question Id : 68019111909 Question Type : MCQ Option Shuffling : No
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Correct Marks : 4 Wrong Marks : 1

Learning depends upon the mtelligence or mental faculty of an individual. The curve of learning
reaches its peak in which of following age groups :

1. Between 22 and 25 years of age
2. Between 15 and 25 years of age
3. Between 10 and 15 years of age only
4. Between 30 and 35 years of age

Options :

68019146961. 1
68019146962. 2
68019146963. 3

68019146964. 4
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Options:

68019146961. 1
68019146962. 2
68019146963. 3

68019146964. 4
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Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of deaths (from all causes) per 1000 estimated mid-year population in one year in a
given place is the :-

1. Crude death rate

2. Specitic death rate

3. Case fatality rate

4. Proportional mortality rate

Options :

68019146965. 1
68019146966. 2
68019146967. 3

68019146968. 4
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Options :

68019146965. 1
68019146966. 2
68019146967. 3
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Match List I with List IT

LISTI LISTII
Measurement of Morbidity Definitions

No. of all current cases of a disease ata Period
A T T = : L

definite time in a defined population prevalence

Frequency of all current cases existing Secondary attack
B. : 2 - : IT.

during a defined peniod of time rate

No. of exposed persons developing the
C. |disease during the incubation period III. |Point prevalence
following exposure

Incidence rate used only when the
D. |population 1z exposed to risk for a IV |Artack rate
limited period of time

Choose the correct answer from the options given below:

(A) - (I). (B) - (IIT). (C) - (IT). (D) - (IV)
. (A) - (III). (B) - (I). (C) - (IT). (D) - (IV)
(A)-(I). (B) - (II). (C) - (IIT). (D) - (IV)
4. (A) - (IV). (B) - (TT1). (C) - (II). (D) - (I)

fag b2 —

Options:

680191469609. 1
68019146970. 2
68019146971. 3
68019146972. 4

Question Number : 18 Question Id : 68019111911 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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D. [STd1'8 5id el Sifdd sfafy & fom | 1v. [gAd &l X
SIGH & HUdh H 8l
- fau e fdenl O 9§ 9ol S 3|

L. (A) - (). (B) - (IIT). (C) - (II). (D) - (IV)
2. (A) - (II). (B) - (I). (C) - (II). (D) - (IV)
3.(A)-({@). (B) - (I). (C) - (IIT). (D) - (IV)
4. (A) - (IV). (B) - (III). (C) - (I). (D) - (I)

Options :

68019146969. 1
68019146970. 2
68019146971. 3

68019146972. 4

Question Number : 19 Question Id : 68019111912 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following are a unit of study in the Cross-sectional or prevalence Analytical
study?

1. Patients

2. Population

3. Individuals

4. Healthy people

Options :

68019146973. 1



68019146974. 2
68019146975. 3

68019146976. 4

Question Number : 19 Question Id : 68019111912 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. e
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Options :

68019146973. 1
68019146974. 2
68019146975. 3
68019146976. 4

Question Number : 20 Question Id : 68019111913 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

What do you call an epidemic which is most often of infectious origin and results from person-
to-person transmission of an mfectious agent (e.g.. hepatitis A and polio)?

1. Common source epidemics
2. Slow or modern epidemics
3. Propagated epidemics

4, Multiple exposure epidemics

Options:
68019146977. 1
68019146978. 2

68019146979. 3



68019146980. 4

Question Number : 20 Question Id : 68019111913 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3T U HEMR &1 301 Hed & ol TR GPHMHD FAfI B el ¢ 3R T oD Toic
(O, gUCTSed U 3R Niferat) & oafd-Y-aufad T=Rur oT URum gict 82

1. S Al TemmNEr
2. T T7 M1 HgrmIRa
3. Ol g el
4, §5-UGHYIR HgIHIREl
Options :
68019146977. 1
68019146978. 2
68019146979. 3

68019146980. 4

Question Number : 21 Question Id : 68019111914 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cohort study has the following characteristics:

(A). A Cohort study proceeds from 'effect to cause'

(B). A Cohort study starts with the disease

(C). A Cohort study involves a large number of subjects

(D). A Cohortt study generally yields only estimate of RR (odds ratio)
Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
_(A). (B). (C) and (D).
4. (B). (C) and (D) only.

iz

Options :
68019146981. 1

68019146982. 2



68019146983. 3
68019146984. 4

Question Number : 21 Question Id : 68019111914 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T Srepee § Fafatad fasivan & _
(A) Us GHE LT YHIG Y SR T 4 dgadl 8
(B) U g HY" I & 1Y L& Bldl o
(C) U g 149 § 991 Geean & fawg e 81d ©
(D) Us GHE LT 3 IR W Had HRAR (f[AvH 3Urd) o1 30 a1 8
- fou e faenl & 9 Il SR |
1.9t (A). (B) 3R (D)
2. Had (A). (B) HR (C)

3. (A). (B), (C) R (D)
4.%ad (B), (C) 3R (D)

Options :

68019146981. 1
68019146982. 2
68019146983. 3

68019146984. 4

Question Number : 22 Question Id : 68019111915 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A study in UK of 5174 births at home and 11,156 births in hospitals showed perinatal mortality
rates of 5.4 per 1000 in the home births and 27.8 per 1000 in the hospital births. It might be
concluded that homes are a safer place for delivery of births than hospitals. However. hospitals
attract women at high risk for delivery because of their special equipment and expertise and this
might be due to this fact alone. What do you called this type of association?

1. Indirect association

2. Direct or causal association
3. Multifactorial association
4. Spurious association



Options :

68019146985. 1
68019146986. 2
68019146987. 3
68019146988. 4

Question Number : 22 Question Id : 68019111915 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. §g9CHIY Y (H157)
4. bl GTSH

Options :

68019146985. 1
68019146986. 2
68019146987. 3

68019146988. 4

Question Number : 23 Question Id : 68019111916 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Polio and herpes zoster are the examples of the following type of diseases:

1. Sporadic
2. Endemic
. Zoonosis
4. Epidemic

L]

Options :

68019146989. 1
68019146990. 2
68019146991. 3

68019146992. 4

Question Number : 23 Question Id : 68019111916 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

aiferar 3R gl Wier FHufefad veR &1 Saifial & Seru &
1. fege
2. QS
3. SR
4. HETHRI
Options :
68019146989. 1
68019146990. 2

68019146991. 3

68019146992. 4

Question Number : 24 Question Id : 68019111917 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A) Nosocomual infections can be an incubating condition at the time of admission

B) Nosocomial infections are generally acquired from a hospital or health care facility
C) It includes mfections after the discharge of the patient

D) It denotes a new order of illness and not related to the patient's primary condition.
Choose the correct answer from the options given below:

— p— — —

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options :

68019146993. 1
68019146994. 2
68019146995. 3

68019146996. 4

Question Number : 24 Question Id : 68019111917 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. %ad (A), (B) IR (D)

2.%ad (A). (B) 3R (C)

3.(A). (B). (€) 3 (D)
4. %99 (B), (C) 3R (D)

Options :

68019146993. 1
68019146994. 2
68019146995. 3
68019146996. 4

Question Number : 25 Question Id : 68019111918 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following defenses are not related to Passive immunity?

1. By administration of an antibody-containing preparation

2. By transfer of maternal antibodies across the placenta

. By transter of lymphocytes to induce immunity

4. Following immunization with an antigen which may be a killed vaccine

L]

Options:

68019146997. 1
68019146998. 2
68019146999. 3

68019147000. 4

Question Number : 25 Question Id : 68019111918 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019146997. 1
68019146998. 2
68019146999. 3

68019147000. 4

Question Number : 26 Question Id : 68019111919 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The following are some of the characteristics of Live vaccines:

(A). Live vaccines are more potent because they multiply in the host
(B). Live vaccines can engage certain tissues of the body

(C). Live vaccines have all the major and minor antigenic components
(D). Live vaccines have a larger antigenic dose than what is injected
Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options :

68019147001. 1
68019147002. 2
68019147003. 3
68019147004. 4

Question Number : 26 Question Id : 68019111919 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. ®dd (A). (B) 3R (D)

2.%dd (A). (B) 3R (C) Padl
3.(A). (B). (C) R (D)
4.%ad (B), (C) 3R (D)

Options :

68019147001. 1
68019147002. 2
68019147003. 3

68019147004. 4



Question Number : 27 Question Id : 68019111920 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

With regards to the Pre-Conception & Pre-Natal Diagnostic Techniques Act. 1994, a Genetic
Clinic means:-

1. An mnstitute, hospital, nursing home or any place, by whatever name called. which provides
for genetic counselling to patients

2. A laboratory and includes a place where facilities are provided for conducting analysis or
tests of samples recerved

3. An institute, hospital, nursing home or any clinic or place, by whatever name called, which
i1 used for conducting pre-natal diagnostic procedures

4. It ncludes all pre-natal diagnostic procedures and pre-natal diagnostic tests

Options:

68019147005. 1
68019147006. 2
68019147007. 3
68019147008. 4

Question Number : 27 Question Id : 68019111920 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019147005. 1
68019147006. 2

68019147007. 3



68019147008. 4

Question Number : 28 Question Id : 68019111921 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Under the Transplantation of Human Organs and Tissues Act. 1994, what do you mean by a
"tigsue bank":

1. A facility registered under section 14A for carrying out any activity relating to the
Tecovery. screening. testing, processing, storage and distribution of tissues and should
mclude a blood bank also

2. A facility registered under section 14A for carrying out any activity relating to the
Tecovery. screening. testing, processing, storage and distribution of tissues but does not to
include a blood bank

3. A facility registered under section 18A for carrying out any activity relating to the
recovery. screening. testing, processing, storage and distribution of tissues

4. A facility registered under section 20A for carrying out any activity relating to the
TECOVery. screening. testing. processing, storage and distribution of tissues

Options :

680191470009. 1
68019147010. 2
68019147011.3

68019147012. 4

Question Number : 28 Question Id : 68019111921 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

680191470009. 1
68019147010. 2
68019147011.3
68019147012. 4

Question Number : 29 Question Id : 68019111922 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Under the Consumer Protection Act, 2019. the following options are given below with regard to
what a complamant means:

(A). A consumer

(B). One or more consumers, where there are numerous consumers having different interests
(C). The Central Government or any State Government

(D). Any voluntary consumer association registered under any law for the time being m force
Choose the correet answer from the options given below:

1. (A). (B) and (D) only.
2.(A). (C) and (D) only.
3.(A). (B).(C)and (D).
4. (B).(C) and (D) only.

Options :

68019147013. 1
68019147014. 2
68019147015. 3



68019147016. 4

Question Number : 29 Question Id : 68019111922 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. %ad (A), (B) 3R (D)
2. %99 (A), (C) 3R (D)
3.(A). (B), (C) 3R (D)
4.%ad (B), (C) 3R (D)

Options :

68019147013. 1
68019147014. 2
68019147015. 3

68019147016. 4

Question Number : 30 Question Id : 68019111923 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 15 the primary ethical principle that underlines the confidentiality of medical records?

1. Justice

2. Beneficence

3. Autonomy

4. Non-maleficence

Options :
68019147017. 1

68019147018. 2



68019147019. 3

68019147020. 4

Question Number : 30 Question Id : 68019111923 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
FaferegT ifArcRal &t Mu-Taal & TEiidd B3 aral WU S Sfas Rgid | e?

1. 41
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3. H}dIddl

4, TR-gvygul
Options :
68019147017. 1
68019147018. 2

68019147019. 3

68019147020. 4

Question Number : 31 Question Id : 68019111924 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The following requirements can be enforced by the Infection Control Committee in Hospitals: -
(A) Employee personnel's health. dress code. mn-service education, efe.

(B) Isolation Procedures. Rodent control and preventive maintenance

(C) Environment specimens like trash, garbage storage, proper ventilation

(D) Systems control. mcluding ev aluation of systems. efc.

A). (B) and (D) only.

1. (A). (B)
1. (A). (B) and (C) only.
3.(A).(B
4.(B). (C

A). (B).(C) and (D).

B). (C) and (D) only.
Options :
68019147021. 1

68019147022. 2



68019147023. 3

68019147024. 4

Question Number : 31 Question Id : 68019111924 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019147021. 1
68019147022. 2
68019147023. 3

68019147024. 4

Question Number : 32 Question Id : 68019111925 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The following are the sequence of events for admission of a patient in a Hospital:
(A). Outpatient/Emergency encounter

(B). After care

(C). Prognosis

(D). Diagnosis

Choose the correct answer from the options given below:

1. (A). (D). (C). (B).
2. (A). (B). (C). (D).
3. (B). (A). (D). (C).
4. (C). (B). (D). (A).



Options :

68019147025. 1
68019147026. 2
68019147027. 3
68019147028. 4

Question Number : 32 Question Id : 68019111925 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019147025. 1
68019147026. 2
68019147027. 3

68019147028. 4

Question Number : 33 Question Id : 68019111926 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The following department in the Hospital does not provide services to inpatients:

. Emergency department

. Obstetrics and Gynaecology Department
. Intensive Care Unit (ICU)

. Radiology Department

d =

e s



Options :

68019147029. 1
68019147030. 2
68019147031.3

68019147032. 4

Question Number : 33 Question Id : 68019111926 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019147029. 1
68019147030. 2
68019147031. 3

68019147032. 4

Question Number : 34 Question Id : 68019111927 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The common measures of patient satisfaction in the mpatient services of a hospital are :
(A). Average length of stay

(B). Number of outpatient visits and admission rate

(C). Patient satisfaction surveys

(D). Patient interviews or discussions

Choose the correct answer from the options given below:

(C) and (D) only.
.(A). (B) and (C) only.
3. (A). (B). (C) and (D).
4. (A) and (B) only.

P



Options :

68019147033. 1
68019147034. 2
68019147035. 3

68019147036. 4

Question Number : 34 Question Id : 68019111927 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019147033. 1
68019147034. 2
68019147035. 3

68019147036. 4

Question Number : 35 Question Id : 68019111928 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The formulation of policies and procedures for medico-legal cases. police procedures and
reporting, notifiable deaths, disposal of dead bodies and autopsy are the responsibilities of which
of the following :

1. Registration and medical records
2. Reception/Enquiry

3. Human resource department

4, Emergency department

Options:

68019147037. 1
68019147038. 2
68019147039. 3
68019147040. 4

Question Number : 35 Question Id : 68019111928 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019147037. 1
68019147038. 2
68019147039. 3

68019147040. 4

Question Number : 36 Question Id : 68019111929 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of these conditions doesn't satisfy a patient for AM admat?

. Pre-operative tests done in the morning of the day of the surgery
. Admission in the morning of the day of the surgery

. Admission in the afternoon of previous day of the surgery

4. Pre-operative tests done earlier as an outpatient

1
2

L]

Options :

68019147041. 1
68019147042. 2
68019147043. 3

68019147044. 4

Question Number : 36 Question Id : 68019111929 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019147041. 1
68019147042. 2
68019147043. 3

68019147044. 4

Question Number : 37 Question Id : 68019111930 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Patients who require continuous mndividual observation and care for cardiac conditions and have
to utilize electronic monitoring and therapy are part of the :

1. Medical ICU
2. Coronary ICU
3. Neonatal ICU
4, Surgical ICU

Options :

68019147045. 1
68019147046. 2
68019147047.3

68019147048. 4

Question Number : 37 Question Id : 68019111930 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o Xl 1 o Yl Tl & foru R afdaTa gl 3R G@HT $I Saegdal
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2. BRI ARG

3. Tq9Id M4

4, ioIH e AR,
Options :
68019147045. 1
68019147046. 2
68019147047. 3

68019147048. 4

Question Number : 38 Question Id : 68019111931 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



During the facilities planning for a new hospital, a newborn nursery was planned with a wash
basin equipped with controls, provision for storing linen. nursery equipment with emergency
carts and a nurses' emergency calling system. Apart from these facilities, what other essentials
are required in this newborn nursery?

1. Glazed observation windows. an examination room and a treatment room
2. Only an examination room 1s required in newborn nurseries

3. General observation windows are sufficient for newborn nurseries

4. Triage room should be separate only in the newborn nurseries

Options :

68019147049. 1
68019147050. 2
68019147051. 3

68019147052. 4

Question Number : 38 Question Id : 68019111931 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019147049. 1
68019147050. 2
68019147051.3

68019147052. 4

Question Number : 39 Question Id : 68019111932 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

Which one is a correct description of CAT Scan?

. Safe and reliable radiographic examination of the breasts
. Used for imaging dense tissues like slices for a 3-D view
. To see soft tissues like muscles, fat and internal organs
4. Images of the head or entire parts of the body

e

Taa

Options :

68019147053. 1
68019147054. 2
68019147055. 3
68019147056. 4

Question Number : 39 Question Id : 68019111932 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019147053. 1
68019147054. 2
68019147055. 3
68019147056. 4

Question Number : 40 Question Id : 68019111933 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Equipments and medical supplies are normally assembled on crash carts and kept ready to roll at
any time. Where can we find these carts in the hospital?

1. Surgery

2. Labour and delivery room
3. 160

4. Laboratory

Options :

68019147057. 1
68019147058. 2
68019147059. 3

68019147060. 4

Question Number : 40 Question Id : 68019111933 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FUPRUN 3R Fftsea Mgfel &1 o AR W 9 PIE W 3ae] o el ¢ 3R faredt oft g
R/ B o (o7 IR T A1l 5| 84 SR 8 4 PIC dgl 1Hd Fadl 57

Options :

68019147057. 1
68019147058. 2
68019147059. 3

68019147060. 4

Question Number : 41 Question Id : 68019111934 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Central Sterilization and Supply Department (CSSD) 1s not responsible for which of the
tollowing functions?

1. Preparation and autoclaving of all linen packs and gloves.

2. Preparation and autoclaving of all surgical instruments. syringes and needles

3. Storage of all surgical instruments. linen packs. etc.

4. Training personnel in correct processing procedures to gain a higher level of efficiency

Options :

68019147061. 1
68019147062. 2
68019147063. 3

68019147064. 4

Question Number : 41 Question Id : 68019111934 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019147061. 1
68019147062. 2
68019147063. 3
68019147064. 4

Question Number : 42 Question Id : 68019111935 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The basic steps 1n conducting a clinical trial are as follows:
(A). Drawing a protocol

(B). Manipulation. Follow-up and Assessing the outcomes
(C). Randomization

(D). Selecting a reference and experimental population
Choose the correct answer from the options given below:

1. (A). (B). (D). (C).
2. (A). (B). (C). (D).
3.(A). (D). (C). (B)
4. (C). (B). (D). (A).

o T

Options :

68019147065. 1
68019147066. 2
68019147067. 3
68019147068. 4

Question Number : 42 Question Id : 68019111935 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A). (B). (D). (C).
2. (A), (B). (C). (D).
3.(A), (D). (C). (B)
4.(C). (B). (D). (A).

Options :

68019147065. 1
68019147066. 2
68019147067. 3

68019147068. 4



Question Number : 43 Question Id : 68019111936 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The International Classification of Diseases 1s one significant contribution of the following
organization:

1. United Nations Development Programme (UNDP)

2. World Health Organization (WHO)

3. United Nations International Children's Educational Fund (UNICEF)
4, Medicare and Medicaid in US

Options :

68019147069. 1
68019147070. 2
68019147071.3

68019147072. 4

Question Number : 43 Question Id : 68019111936 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019147069. 1
68019147070. 2
68019147071. 3

68019147072. 4

Question Number : 44 Question Id : 68019111937 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Indian Pharmaceutical market is growing and it is called the "Pharmacy of the world". What are
the reasons behind this achievement:

1. India 1s the largest manufacturer and supplier of Active Pharmaceutical Ingredient (API) in
the world

2. India has been the largest supplier of generic drugs and also has been supplying a lot of
vaccines during the COVID-19 also.

3. India is home to all the European drug manufacturers

4. The drug imports are higher than the exports in the field of pharmaceutical products.

Options :

68019147073. 1
68019147074. 2
68019147075. 3

68019147076. 4

Question Number : 44 Question Id : 68019111937 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019147073. 1
68019147074. 2
68019147075. 3

68019147076. 4

Question Number : 45 Question Id : 68019111938 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What are the applications of Artificial Intelligence in Healthcare?

(A). Disease Control and Prevention

(B). Clinical Decision Support Services and Interoperability

(C). In pandemics,. to trace cases and suggest 1solation and quarantine requirements
(D). Forecasting of cases and trends in healthcare

Choose the correct answer from the options given below:

A). (C) and (D) only.
B) and (C) only.
B). (C) and (D).

C) and (D) only.

L(
1-(

N — — —

).
3. (A).
4. (B).
Options :
68019147077. 1
68019147078. 2
68019147079. 3

68019147080. 4

Question Number : 45 Question Id : 68019111938 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019147077. 1

68019147078. 2



68019147079. 3
68019147080. 4

Question Number : 46 Question Id : 68019111939 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One of the Nobel prizes in 2023 was given for the discovery and use of a new technology in
healthcare for benefit of the community all over the world. What was the field for which this
Nobel prize was given?

1. Medicinal chemistry
2. Auto-immune diseases
3. Vaccine development
4. Pharmacology

Options :

68019147081. 1
68019147082. 2
68019147083. 3

68019147084. 4

Question Number : 46 Question Id : 68019111939 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019147081. 1
68019147082. 2



68019147083. 3

68019147084. 4

Question Number : 47 Question Id : 68019111940 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In research. when an exposure and outcome are strongly associated with a third variable. it 13
stated as :

1. Confounding

2. Matching

3. Recall bias

4. Retrospective cohort

Options :

68019147085. 1
68019147086. 2
68019147087. 3

68019147088. 4

Question Number : 47 Question Id : 68019111940 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:
68019147085. 1
68019147086. 2

68019147087. 3



68019147088. 4

Question Number : 48 Question Id : 68019111941 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The standard form that must be filled before starting a surgery 1s :

1. 5F 520
2. 8F 521
3. 8F 322
4, 5D 532

Options :

68019147089. 1
68019147090. 2
68019147091. 3

68019147092. 4

Question Number : 48 Question Id : 68019111941 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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. SF 520
. SF 521
. 5F 522
4. SD 532

Options :
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68019147089. 1
68019147090. 2
68019147091. 3

68019147092. 4

Question Number : 49 Question Id : 68019111942 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The thickness of the lead jacket that iz maintained for X-Ray procedure is :

. 250 mm
. 2.5 mm
.25 mm
.0.25 mm

| R

S )

Options:

68019147093. 1
68019147094. 2
68019147095. 3
68019147096. 4

Question Number : 49 Question Id : 68019111942 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68019147093. 1
68019147094. 2
68019147095. 3

68019147096. 4

Question Number : 50 Question Id : 68019111943 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In genetics, which of the following diseases are linked to recessive sex-linked traits:
(A). Hydrocephalus

(B). Haemophilia type A and B

(C). G6 PD Deficiency

(D). Marfan's syndrome

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.

2. (A).(B) and (C) only.

3. (A). (B). (C) and (D).

4. (B). (C) and (D) only.
Options

68019147097. 1
68019147098. 2
68019147099. 3
68019147100. 4

Question Number : 50 Question Id : 68019111943 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019147097. 1
68019147098. 2
68019147099. 3

68019147100. 4



Question Number : 51 Question Id : 68019111944 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI
Medical Record
Department Terms

LISTII

Functions

Accurate identification and
A |Unit record system [. |complete information about the
patients using unit numbers

This system starts with the lowest
II. |number and ending with the highest
number

Dictating and
Transcription system

Telephone or remote equipment

C. |Numbering system |IIL |,. s ae
= s linked to central transcription room

Betains all records i a

D. |Filing system IV. :
SiEe chronological order

Choose the correet answer from the options given below:

(A)-(I).(B) - (II). (C) - (III). (D) - (IV)
. (A) - (IV). (B) - (III). (C) - (I). (D) - (II)
- (A) - (). (B) - (II). (C) - (IV). (D) - (I1I)
- (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

fag B2 —

i

Options :

68019147101. 1
68019147102. 2
68019147103.3

68019147104. 4

Question Number : 51 Question Id : 68019111944 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (1. (B) - (II). (C) - (IIT). (D) - (IV)
2.(A) - (IV). (B) - (ITT). (C) - (I). (D) - (I)
3.(A) - ({@). (B) - (I). (C) - (IV). (D) - (III)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

Options:

68019147101. 1
68019147102. 2
68019147103.3

68019147104. 4

Question Number : 52 Question Id : 68019111945 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following criteria was not defined by Bhore Committee as part of
comprehensive health care?

1. Create and maintain a healthy environment both in home and working places
2. Immunization against major infectious diseases

3. To be as close to the beneficiaries as possible

. Provide adequate preventive. curative and promotive health services

=N

Options :
68019147105. 1

68019147106. 2



68019147107. 3
68019147108. 4

Question Number : 52 Question Id : 68019111945 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019147105. 1
68019147106. 2
68019147107. 3

68019147108. 4

Question Number : 53 Question Id : 68019111946 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Nutritional Problems Affected population
A Protein-energy I Major cause of mortality and morbidity in
" |malnutrition " |children below 3 vears of age
B. |ARI II. |Severe cases in pre-school children
C. |Nutritional anaemia | III. |Highly endemic in sub-Himalavan regions
D. [gdme deficicnny IV. |High prevalence in women and children
disorders

Choose the correct answer from the options given below:

(A) - (I). (B) - (I1). (C) - (TII), (D) - (IV)
. (A) - (II), (B) - (I), (C) - (IV), (D) - (IIT)
(A) - (1). (B) - (I1). (C) - (IV). (D) - (III)
. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

2 =

e Laa

Options :

68019147109. 1
68019147110. 2
68019147111. 3

68019147112. 4

Question Number : 53 Question Id : 68019111946 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TEI-1 & |1y GEl-11 &1 firam= o

I I
ﬁmﬂ%@aqmm Hﬂﬁﬁ'@,w
5 |- safamnsm s st dggw
__|pumm | SR TTUT @ HHE BRI
B. [U3RMM 11. |5fi-%pa & st | i A

c. Wﬁﬁ Yael 1. [3u_femrad &4t  sraftie =if®

D. Wa'[ SH P BHI IV. [Afgarsi 3R =i § 99 WOR

- fau e faw el O 9§ 981 S I |

L. (A) - (I}, (B) - (IL), (C) - (IIT), (D) - (IV)
2.(A)-I). (B) - (I). (C) - (IV), (D) - (IIT)
3. (A) - (I). (B) - (II). (C) - (IV). (D) - (IIT)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019147109. 1
68019147110. 2
68019147111. 3
68019147112. 4

Question Number : 54 Question Id : 68019111947 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a suggested norm for nurses in our healthcare delivery system?

. 1 per 10000 population
. 1 per 3500 population

. 1 per 30.000 population
. 1 per 5000 population

L

Options :

68019147113. 1
68019147114. 2
68019147115. 3

68019147116. 4



Question Number : 54 Question Id : 68019111947 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FafiRed O 4 & H W1 W Sa [daxu yore! 8 4 & e U G2 11 5HS 82

1. Wid 10000 ST W 1
2. 9fd 3500 SFERIT TR 1
3. 9fd 30,000 SHYEIT IR 1
4. Wid 5000 THHSIT W 1

Options:

68019147113. 1
68019147114. 2
68019147115.3

68019147116. 4

Question Number : 55 Question Id : 68019111948 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The level of healthcare where most of the health problems of an individual. family and
community can be resolved and dealt with :

1. Preventive care level
2. Tertiary care level
3. Secondary care level
4. Primary care level

Options :

68019147117. 1
68019147118. 2
68019147119. 3

68019147120. 4

Question Number : 55 Question Id : 68019111948 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR a1 $1 6 R o] (41 ogfar. TRAR SR T S U1 ey Fris o1
YT 2T S Hebell & 3R SR F10eT off el &

1. FaR® TR 31 @va
2. JdID &R Bl GG
3. fedio® TR @1 S@HE
4. TS TR B @

Options :

68019147117. 1
68019147118. 2
68019147119. 3

68019147120. 4

Question Number : 56 Question Id : 68019111949 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI
New paradigm of
healthcare management

LISTII

Terms

Right-sizing and

A
redundancy

1. |Flexibility and efficient utilization

Fundamental rethinking and
B. |Quality improvement | II. |radical redesign of the business

processes
. Business Process Re- I Taitloring the workforce according
" |engineering " |to the needs

Continuous tmprovement and

Sl | i 1 e meeting the standards

Choose the correct answer from the options given below:

(A) - (I). (B) - (ID), (C) - (TII), (D) - (IV)
(A) - (I). (B) - (ITT). (C) - (II). (D) - (IV)
(A) - (). (B) - (ID). (C) - (IV). (D) - (IIT)
(A) - (IIT). (B) - (IV). (C) - (I). (D) - (I)

| R

e g

Options:



68019147121.1
68019147122. 2
68019147123. 3

68019147124. 4

Question Number : 56 Question Id : 68019111949 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GeI-1 & Ty Feil-11 &1 fiam= a3

I
Wﬂﬂ“@aﬁﬁ ye Y BT H\:%H
a1 ufq|=

A qﬁmf RN I |q<iieia 2R $Id Juar

B. [qurgi H guR U o are e e oy

c |EEETEE 11 [FTAREEA & SFTER BT B
B EElEEE " [GomafRd &3
b. |srgesife 1y [FRER QR SR A0 &1 g
oAl
- feu e fdeedl & 9§ 9el SR I |

L. (A) - (I). (B) - (IT). (C) - (IIT). (D) - (IV)
2.(A)-({D). (B) - (IT). (C) - (II). (D) - (IV)
3. (A) - (I). (B) - (I). (C) - (IV). (D) - (IIT)
4. (A) - (D), (B) - (AV). (C) - (IT). (D) - (I)

Options :

68019147121. 1
68019147122. 2
68019147123.3

68019147124. 4

Question Number : 57 Question Id : 68019111950 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

The primary aum of the National Health Policy. 2017 are :

(A). To inform. clanfy. strengthen and prioritize the role of the Government in shaping health
systems

(B). Prevention of diseases and promotion of good health through cross sectoral actions

(C). Building knowledge base and better financial protection strategies

(D). Strengthening regulations and slowly converting public hospitals to private hospitals to save
the financial expenditure of the Government

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
l (A). (B) and (C) only.
3.(A), (B). (C) and (D).
4.(B). (C) and (D) only.

Options :

68019147125. 1
68019147126. 2
68019147127.3

68019147128. 4

Question Number : 57 Question Id : 68019111950 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

¥t ey Hifd. 2017 & WIS T5% 58 WK &
(A). TG YUTferdl bl SR 4 H TWHR S HfHeT P Id B WY BT, Holgd BT
SR BTl T
(B) XTI BT ABUM 3R P R BTl b TLH 4§ 3fws TR PI agral ol
(C) T SR 3R SR fariry JRe& oFIfd! 31 Faf
(D) TSR & [ai1a G4 Bl g9 & fod (Haw! o1 7agd 1 3R 9R-4R -
ETE @ 1ol SRl o geeH
T4 few T fowedl & 9 981 SR T

1.%ad (A). (B) 3R(D)

2. %G (A). (B) aﬁr{

3.(A).(B).(C) PMDJ
4.%ad (B), (C) 3R(D)

Options :

68019147125. 1

68019147126. 2



68019147127. 3

68019147128. 4

Question Number : 58 Question Id : 68019111951 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The following are some of the patient safety issues in the Indian healthcare system EXCEPT:

1. Poor and fragmented legal and regulatory context for healthcare practice and service
delivery

2. Negligence of the Consumer Protection Act and patients' rights

3. Lack of funding for patient safety-based research in India

4. More engagement and mitiatives of public hospitals in the NABH accreditation

Options :

68019147129. 1
68019147130. 2
68019147131. 3

68019147132. 4

Question Number : 58 Question Id : 68019111951 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR T S yoneh & Fefifed oo Ui e gE §. e s

1. YT TaT 31 SR a1 faeR0r & fi7g WR1a SR Wisd S ofR e dgy
2. ST TR0 ST ok Al & AR 3f 3uen

3. YR B TR GRAT 3MeTd SIEH & fog o ol B

4, TAUSTTE H0A1 § QdeiAe SRaral @f siftfe YrieRt 3R ggd

Options :

68019147129. 1
68019147130. 2
68019147131. 3

68019147132. 4



Question Number : 59 Question Id : 68019111952 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following programme indicator is used by NFHS to find out inequality in a
particular caste or tribe?

. No exposure to media

literacy

. Unsafe deliveries or Non-utilization of ANC services
. Prevalence of anaemia

g b —

o

Options:

68019147133. 1
68019147134. 2
68019147135.3

68019147136. 4

Question Number : 59 Question Id : 68019111952 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fofaiad 3 € fog oRied Seae o SUaiT U4, T, U9, U9, R {6 ARy g ar
ST H SEHFT B Ul G o for faa S &2

1. HifeT T o5 tagueR el

2. fReRa
3. SRR [IaRU1 a7 UE Haradi o1 FR-3anT
4. THIEAT BT YR

Options :

68019147133. 1
68019147134. 2
68019147135. 3

68019147136. 4

Question Number : 60 Question Id : 68019111953 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The total software requirements of a typical hospital are in which of the following areas?
(A). Clinical applications

(B). Inpatient care

(C). Outpatient care

(D). Business applications

Choose the correct answer from the options given below:

1. (A) and (D) only.

2. (A). (B) and (C) only.
3.(A). (B). (C) and (D).
4.(B).(C) and (D) only.

Options :

68019147137. 1
68019147138. 2
68019147139. 3

68019147140. 4

Question Number : 60 Question Id : 68019111953 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U@ Ay SRude @ $d AtedmR el Feif@a e aa i @
(A) FaIHS VAN

(B) SR I DI TaHTd

(C) STRI XM ST

(D) AGHIID 3IHgIT

14 feu T fasedl & € 9l 3w |

1. %ad (A) 3R (D)

2. Bad (A). (B) 3R (C)
3. (A). (B). (C) 3R (D)
4.4 (B). (C) 3R (D)

Options :
68019147137. 1

68019147138. 2



68019147139. 3
68019147140. 4

Question Number : 61 Question Id : 68019111954 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the DRG system, patients with similar diagnosis and treatment procedures are grouped
together and they are called:

1. Patient categories

2. Diagnostic clusters

3. DRG families

4. Health conditions clusters

Options:

68019147141. 1
68019147142. 2
68019147143.3

68019147144. 4

Question Number : 61 Question Id : 68019111954 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

STt worTelt &, FAM e SR SUER wiesarsil aret Al B g W Weigd foar
ST & 3R 3% g1 el ¢
1. ]I 1 Sforaf
2. eI 9igg
3. SI3fRi IRAR
4. ey fyfagl & 9
Options :
68019147141. 1
68019147142. 2
68019147143. 3

68019147144. 4



Question Number : 62 Question Id : 68019111955 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Approximately. 70% of the world's healthcare expenditure are allocated using which of the
following techniques for reimbursement and resource allocation:

1. Out-of-pocket expenditure
2. Social health insurance

. International classification of Diseases (ICD)
4. Disease burden data

LS ]

Options:

68019147145. 1
68019147146. 2
68019147147. 3

68019147148. 4

Question Number : 62 Question Id : 68019111955 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g1 & TR GEHTE ogd &1 @THT 70 Ui Hagfd ok G9meH 3de & fou
fafefad § T g do-s & SUar Fd afed fdar ol &

1. g ¥ siftre @<

2. grH1foe W |

3. AT BT 3 GHICTW IS ERS)
4. WORI b S D 3ds

Options :

68019147145. 1
68019147146. 2
68019147147. 3

68019147148. 4

Question Number : 63 Question Id : 68019111956 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Code Blue in a Hospital 1s activated in which of the following type of situation?

1. Bomb threat
2. Security emergencies
3. Medical emergency
4. Fire
Options:
68019147149. 1
68019147150. 2
68019147151. 3

68019147152. 4

Question Number : 63 Question Id : 68019111956 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT | i & Hafafad 3§ O o9 yer o fufd O gieg giare?

v
B

4. 30
Options :
68019147149. 1
68019147150. 2
68019147151. 3

68019147152. 4

Question Number : 64 Question Id : 68019111957 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI .
: LISTII
Treatment and disposal
Advantages
of waste
A Wet thermal I Highly efficient disinfection under
°7 |treatment " |good operating conditions
B Chemical 1 Relatively low investment and
" |disinfection " |operating costs
C Pyrolytic m Drastic reduction of weight and
" |incineration " |volume of waste
D |Brick incinerator IV. |High disinfection efficiency

Choose the correct answer from the options given below:

1. (A)-(I). (B) - (II). (C) - (III). (D) - (IV)
2. (A) - (I), (B) - (I11). (C) - (IT), (D) - (IV)
A(A)-(I). (B) - (IT). (C) - (IV). (D) - (I
4. (A) - (1), (B) - (I). (C) - (IV). (D) - (I1I)

L]

Options :

68019147153. 1
68019147154. 2
68019147155.3
68019147156. 4

Question Number : 64 Question Id : 68019111957 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TEI-1 & |1y GEl-11 &1 firam= o

I
Wﬁﬁﬁﬂ?éﬁ? T
e Ll
5 =31 ufaraq fRufegi | rafis
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o [(EmatE . HU&THd HH e AR gR=me
C. [Svia yeiiawur |11 |9 3IR &R &1 AET § 4RI &
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- fau e faw el O 9§ 981 S I |

L. (A) - (I}, (B) - (IT), (C) - (IIT), (D) - (IV)
2.{A)-(1),(B) - (II), (C) - (II), (D) - {IV)
3. (A) - (I). (B) - (I1). (C) - (IV). (D) - (IIT)
4. (A) - (II), (B) - (1), (C) - (IV). (D) - (1II}

Options :

68019147153. 1
68019147154. 2
68019147155. 3
68019147156. 4

Question Number : 65 Question Id : 68019111958 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following terms in a sequential order:

(A). Disaster impact

(B). Rehabilitation

(C). Response

(D). Reconstruction

Choose the correct answer from the options given below:

1. (A). (C). (B). (D).
2. (A), (B). (C). (D).
3.(B). (A). (D). (C).
4. (C). (B), (D), (A).

Options :

68019147157.1



68019147158. 2
68019147159. 3

68019147160. 4

Question Number : 65 Question Id : 68019111958 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafiiad vsai &1 Biue o § Fafidd o
(A) SAHal &l HE

(B) g7ar

(c) ufcaferar

(D) - - .

= feu e faeedl o 9 gel 3w 1

_(A). (C). (B). (D).
.(A). (B). (C). (D).
.(B). (A). (D). (C).
.(C). (B). (D). (A).

| R

P

Options :

68019147157. 1
68019147158. 2
68019147159. 3

68019147160. 4

Question Number : 66 Question Id : 68019111959 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

Emer]iiziis and e
s What to do for personal protection
disasters
A |Floods 1. |Choose a shelter in advance
B. |Earthquakes 1. |Prepare family emergency kits
C Clouds of toxic i Turn off electricity to reduce
" |fumes " |electrocution
D Storms and v People who are indoors should move
" Jhurricanes " |to the central part of the building

Choose the correct answer from the options given below:

(A) - (D). (B) - (I1). (C) - (TII). (D) - (IV)
(A) - (I). (B) - (ITT). (C) - (II). (D) - (IV)
(A) - (). (B) - (IV). (C) - (1I). (D) - (I)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

Options :

g b —

68019147161. 1
68019147162. 2
68019147163. 3

68019147164. 4

Question Number : 66 Question Id : 68019111959 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



GEI-1 & |1y FEl-11 1 fira= &

I
&rr:rmagﬁraﬂ? T I
TISTS SafeaTa GR& & forg <
A |96 I (R d ema
B. [y it gﬁmﬁ%mﬁlummmﬂﬂm JUR
C m%{q% 111 Mm$dm|dﬂ'ﬁ${:}|3§m
D. |qwm 3R g | IV zﬁﬂgm‘ﬂg%ﬁmm%ﬁmaa
A= feu U fae el o 9 get 3w 1

L. (A) - (). (B) - (II). (C) - (IIT). (D) - (IV)
2. (A) - (I). (B) - (). (C) - (II). (D) - (IV)
3.(A) - (II). (B) - (IV). (C) - (). (D) - (I)
4. (A) - (1), (B) - (IV). (C) - (I). (D) - (II)

Options :

68019147161. 1
68019147162. 2
68019147163. 3

68019147164. 4

Question Number : 67 Question Id : 68019111960 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Organizing for planning a hospital consists of the following steps. Please arrange them in the
correct sequence:

(A). Developing a decision-making mechanism

(B). Selecting the professional hospital planning team

(C). Organizing the planning team and formulating operating procedures

(D). Appointing a hospital consultant

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2. (A). (B). (D). (C).
3. (B). (A). (D), (C).
4.(C), (B). (D). (A).

Options :



68019147165. 1
68019147166. 2
68019147167. 3

68019147168. 4

Question Number : 67 Question Id : 68019111960 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS 3Tl ! UIoFl §91 o o1y Sirier o Fafeiad =vu wiie §1 $9d1 3 bel d |
AR P:
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Options:

68019147165. 1
68019147166. 2
68019147167.3
68019147168. 4

Question Number : 68 Question Id : 68019111961 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Some of the steps for transformation from paper to electronic health records 1s given below.
Arrange them in the correct sequence.

(A). Feasibility study and allocation of resources

(B). Prepare a project plan

(C). Arrange for Traming and Development of staff

(D). Implement the plan

Choose the correct answer from the options given below:

Options :

68019147169. 1
68019147170. 2
68019147171.3

68019147172. 4

Question Number : 68 Question Id : 68019111961 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

BTl I gade e Wl ReTs & uRkadd & o8 U e U g1 e wei e o
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Options :

68019147169. 1
68019147170. 2
68019147171.3

68019147172. 4



Question Number : 69 Question Id : 68019111962 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

. el LIST II
Financial Management :
L Functions
Unit

A |Business Office [. |Internal and external auditors

B. | Audit office I Dper_amlans_.v component of the
hospital's finance department

c lceo . Perf.ﬂ.rms budgetmg._ monitoring and
auditing functions

D |Asssnngome | v Dvia_'.al.l supervision of all the
activities

Choose the correct answer from the options given below:

(A) - (D). (B) - (I). (C) - (IV). (D) - (II)
(A) - (). (B) - (II). (C) - (IIT). (D) - (IV)
(A) - (D). (B) - (D). (C) - (IV). (D) - (IIT)
. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

fas b2 —

e

Options:

68019147173. 1
68019147174. 2
68019147175.3

68019147176. 4

Question Number : 69 Question Id : 68019111962 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TEI-1 & |1y GEl-11 &1 firam= o

I 11
ﬁ?ﬁuﬁiﬁgﬁ% }gﬁd
A |[gEmeEiag | 1 |siaRe 3R el o wiaw
. oiar udlen i SN o fa faunT &1 garad
" |eaieg |ge®
C. |dga L. %L X SR <l e BT
D. |oial iy Iv. [t fafafear &1 g e
e feu v faeedl o 9 gel 3w I

L. (A) - (II). (B) - (I). (C) - (IV). (D) - (III)
2.(A) - (D). (B) - (IT). (C) - (I1I). (D) - (IV)
3.(A)-(1). (B) - (IT). (C) - (IV). (D) - (II)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019147173. 1
68019147174. 2
68019147175. 3

68019147176. 4

Question Number : 70 Question Id : 68019111963 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange the sequence of functions of the Pharmacy and Therapeutics Committee in a hospital.
(A). Develop a formulary of accepted drugs

(B). Issue written communication to physicians. pharmacists, nursing and administrative staft
regarding change in the formulary

(C). Recommend drugs to be stocked in nursing units and other areas

(D). Prevent unnecessary duplication of same basic drugs to be stocked

Choose the correct answer from the options given below:

Options :

68019147177.1



68019147178. 2
68019147179. 3

68019147180. 4

Question Number : 70 Question Id : 68019111963 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019147177. 1
68019147178. 2
68019147179. 3

68019147180. 4

Question Number : 71 Question Id : 68019111964 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI
. 3 s LISTII
Cardiac Catheterization ;
Procedures and functions formed
Laboratory

A |Diagnostic Procedure | [. |Laser angioplasty, Rotablator etc.

Trained and perform special

B. |Chief cardiologist II. |procedures in the catheterization
laboratory
. |Therapeutic Intravascular Ultrasound and
L I | ~ :
Procedures Coronary Angiogram
D. |Technician IV, |Angiographer

Choose the correct answer from the options given below:

1. (A) - (). (B) - (I1). (C) - (III). (D) - (IV)
2. (A) - (). (B) - (IV). (C) - (IT). (D) - (I)
(A) - (D). (B) - (). (C) - (IV). (D) - (IIT)
. (A) - (IIT). (B) - (IV). (C) - (1). (D) - (II)

Options :

e s

68019147181. 1
68019147182. 2
68019147183. 3

68019147184. 4

Question Number : 71 Question Id : 68019111964 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (D). (B) - (II). (C) - (III). (D) - (IV)
2. (A) - (). (B) - (IV). (C) - (I1). (D) - (I)
3.(A) - (D). (B) - (IT). (C) - (IV). (D) - (11T)
4. (A) - (IIT). (B) - (IV). (C) - (D). (D) - (II)

Options :

68019147181. 1
68019147182. 2
68019147183. 3

68019147184. 4

Question Number : 72 Question Id : 68019111965 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In Hospital Engineering services, the process of network planning involves the following steps
given below. Kindly arrange them in the correct sequence.

(A). Network Programming

(B). Constraints and sequential relationships of activities

(C). Breakdown of project activities

(D). Listing of activities

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2. (A). (B). (D). (C).
3. (B). (A). (D). (C).
4.(C). (D). (B). (A).

Options :



68019147185. 1
68019147186. 2
68019147187. 3

68019147188. 4

Question Number : 72 Question Id : 68019111965 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019147185. 1
68019147186. 2
68019147187.3
68019147188. 4

Question Number : 73 Question Id : 68019111966 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI
Colour-coded svstem for
segregation of waste

LISTII

Tyvpe of waste

Clinical waste which 1s

A. |Yellow L suitable for landfill disposal

B. |Light blue or transparent | II. |Normal housshold waste

Waste for autoclaving or

C. |Black III. ultimate disposal

Clinical waste for incineration
only

D. |Yellow with black strips IV.

Choose the correct answer from the options given below:

1. (A) - (). (B) - (I1). (C) - (III). (D) - (IV)
2. (A) - (IV). (B) - (ITT). (C) - (IT). (D) - (I)

3.(A) - (D). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (I)
Options :

68019147189. 1
68019147190. 2
68019147191. 3

68019147192. 4

Question Number : 73 Question Id : 68019111966 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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L. (A) - (D). (B) - (I). (C) - (III). (D) - (IV)
2. (A) - (IV), (B) - (II), (C) - (1), (D) - (I)
3.(A) - (D). (B) - (IT). (C) - (IV). (D) - (11T)
4. (A) - (IIT). (B) - (IV). (C) - (D). (D) - (II)

Options :

68019147189. 1
68019147190. 2
68019147191. 3

68019147192. 4

Question Number : 74 Question Id : 68019111967 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In an outbreak of an infection at a regional or global level, how are the steps arranged in the
correct order?

(A). Control measures

(B). Identification

(C). Confirmation

(D). Verification

Choose the correct answer from the options given below:

Options :



68019147193. 1
68019147194. 2
68019147195. 3

68019147196. 4

Question Number : 74 Question Id : 68019111967 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019147193. 1
68019147194. 2
68019147195.3

68019147196. 4

Question Number : 75 Question Id : 68019111968 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which 1s the first step in fiscal planning in hospital administration?

1. Assess the needs to be covered in the budget
2. Evaluation and peroidic review

. Develop a plan

4. Implementation

L]

Options:



68019147197.1
68019147198. 2
68019147199. 3

68019147200. 4

Question Number : 75 Question Id : 68019111968 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019147197. 1
68019147198. 2
68019147199. 3

68019147200. 4



